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21. Which State wus'éreated in India in year 20007
(A) Uttaranchal (B) Tamilnadu
(C) Orissa (D) Assam

22. The McMohan line lies between -
(A) Indiaand Nepal
(B) India and Pakistan
(C) India and China
(D) India and Bhutan

23. From area point of view, India's rank in the
- Worldis:

@A) st (B) 5th
(C) 2nd ©) 7th
24, Who is Governor of Reserve Bank of India
~ presently?
(A) ShivArora (B) Umakant Tripathi

~ (©) Cricket

(C) Shaktikanta Das (D) None ofthese

25 P. V. Sindhu is associated with which sports? -

(A) Badminton (B) Hockey

(D) Football

| ?5, Who was the First Vice President of India?

~ (A) Dr. Rajendra Prasad

(B) Dr. S. Radhakrishnan
- (©) Dr.C. Gopalachari
e (D‘)N‘one of these
X Dwtane; from one crest to another crest is
- “'.7'.":' i Gﬂ"ed
Ay %Wlmsth (B) Amplitude
() Frequency (D) Allofthese

; £ Epoxy resin i lsa .........
(&) Natural rubber
; .(B)Namalﬁbrq

SET-C
21. W1 2000 ¥ WG ¥ w1 o 7 sfee o
T/
(A) SaUES (B) dfiyerarg
(C) &t (D) 3w

22, HeHes W@ e e oo 3 R
(A) 9RG R 7
(B) @ 3 qfream
(C) wim 3 ==
(D) s R e

23, 4F% * 3t ¥ WRg @ fava d oW
-

(A) lst (B). 5th
(C) 2nd (D) 7th

24. ;R?ﬂa_fﬁafﬁa%aﬁqﬁﬁﬂaﬁtafn
(A) fora i (B) zaria frardt

(C) wferrhi. =& (D) & & FH 78

25, ﬁ.aﬁ.ﬁ:gmm%a@aﬁ%?
(A) v | (B) &=l |
(C) fFme ¥ (D) Fale o

26. W ® WOH SRR TH 42
A) & = wur
(B) Bl . TuFEE
(©) = &t MuErE
(D)S?ﬁ'ﬁaﬁf?s‘f
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29, Where is Roopkund Tal?
(A) Rudraprayag (B) Chamoli

(C) Pauri (D) Nainital
- 30. Where s the temple of 'Dharidevi'?
~(A) Kaliasaud (B) Makhanda
© . (© S (D) Deval
31. Dola-Palki movement was related with ........
(&) Tribes
- (B) Craftsmen (Shilpkar)
~_ (C) Shepherds a
(D) Weavers exampye 11
32, 'W}uchofthefoﬂowingpassconnectsUttalkashi
and Himachal Pra.desh?
(A) Thangla ~B) MulingLa

(C) Shrangkanth (D) Trailpass

33. Wlnchplanet is farthest from the Sun?
(A) Mercury
(B) Neptune
. (©) Jupiter
. (D) Uranus

3-#. ?Whoproposed first atomic theory?
e "{A) E.Rutherford ~ (B) DeBroglie
{C) DI Mendeleef (D) JohnDalton

35.  Find the selling price when cost price is ¥ 80

~andloss is 15%.
(A) T 64 B) % 65
(C) T 68 (D) None ofthese
36. Find the valugofx:
23 2—6 - 2:
A -1 B 1

(©) 11 (D) Noneofthese

37. The full form of NITI Aayogis :
(A) National Individual for Transforming India
(B) National Institution for Tmnsfonnmg India
(C) National Institution for Transmunaﬂnma

29,

31.

32.

33.

34,

35.

36.

37.

_‘:: (B) None of these
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1?7
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(©) B8, A=edw (D) i T

ﬁwwmﬁﬁqmﬁmwtw
U BT 15% 21

(A) X 64 (B) 2 65 5
(C) % 68 D) 39 ¥ =% 58
x %1 HE FE Hife-
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At s (NITE) 1 9g =m @ &
(A) Fer Ffvsfaree R Sawmii e
(B) T TR B ey e
(C)wm{aﬁwmﬁzﬁwsﬁ@

©) TH @ FE w/

Scanned by CamScanner



8. At Devayag. the Bhagirathi ﬂversmmwﬁh
the

(A) Nandakini River
~ (B) Mandakini River
-(L) Alaknanda River

{D) Ram Ganga River

2
2N

2 Jﬂl_%’ E L_i,j..

~

39, **"ﬂleUttamkhandHngh Courtis located at :
*{*C) Débrodun (D) Rishikesh

40 thghamong the following is/are the glac:ers in
‘Uﬂ#a?hand‘?
(A) Gangotn Glaciers
(B) Pindari Glaciers
(C) Bandarpunch Glaciers

(ﬁ)ﬁﬂofﬁ:eabove esamp
m P¥Es in
41. Wh:chqueemsalsokmm

{B) NepahaRam
(D) Karnawati Rani

42, Wluch lake of Uttarakhand is also known as
"Mystery lake"?

(B) Nainital

@ Saal
() Roopkund (D) None of these

43. Famous Mayawati Ashram is located in which
(A) Almora (B) Champawat
(C) Pithoragarh (D) Tehri Garhwal

44, The famous Jageshwar group of temples is
located in which District :
| (A),Almma (B) Bageshwar
) '(C) Clmmh (D) Uttarkashi

38,

39,

40,

41.

42.

43.
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of 18 km/hour in 8 minutes. If he wants to cover

- the same distance in 6 minutes, what should be

48-’

SET-¢

;'f",‘ - 46, Find the area of floor of a roomwhich volume i 46. TH Fm F B W &355!‘551 Bl :‘w'fThn
~_ 100m*and height is 4 meter? forger STaaE 100 L qe ﬁ1§74 Hier ¥
(A) 400 m’ (B) 25m? (A) 400 Hi? @25 '

(C) 40m’ (D) None of these - (C) 40 T (D) 379 § FE T

47. A person covers acertain distance with a specd 47. % =it U fafvea g 18 fEe e

T & § fire § T w1 A 9 9
6 fir e o 99 HEI =edl € af sEa! i

his speed? = , ]
- (A) 24km/hour (B) 28 kmvhour (A) 24 fdtsm (B) 28 fefl/ser
- (C) 2km/hour (D) None of these () 22 fodlmar (D) H § PiE T

If the radius of curvature of a concave mirror is 48, Iz TF SEae U1 HI oAl B 30 T
30 cm. Then its focal length willbe......... . T @ ol FiEE gl ... B0
(A) 15em (B) 30cm (A) 15 €41 (B) 30 HHL.
(C) 60cm (D) 90 cm (C) 60 G, (D) 90 HH.
49. Cholerais caused by : 49. & .o % U Bl el
(A) Cockroach (B) Bacteria - (A) FiFE (B) aaaﬁzn
(C) Virus (D) Algae (C) I (D) vEm
Sﬂ Find the area of shaded region in the given 50. feq T fom § omEifEd &9 & &A% 97

<, B) 1534 e’

(D) None of these |
: it i ‘ﬂj\:’ -

A sum of simple interest of 13% % per

(A) 38.5em? (A) 38.5 9P —~
g (B) 154 @Y

(C) 19.25 =P
(D) T8 § & A

T JAUT FT 13%: % TMHE HEE =4 &

51. 51.
annum amount to ¥ 3080 in 4 year$. Find the WY 4 gd F fayeT T 3080 B S € A
(A) T 1600 (B) T 1850 ~(A) T 1600 (B) T 1850 :
(€) ¥ 2000 (D) None of these (€) % 2000 (D) T 4 Frf 7

52. Wﬁfg} river passes through the valley of 52, FEll @ U@ T WA wA W A 9w 8-
flowest . (A) FEFT=] aﬁ&?
(A) AlaknandaRiver ((g; ﬁ :;jr \&‘
Pushpawati River € ety | 5
ushp R—l 5. xmp__p B mahe -
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53.

"

57.

(D) None of these

{(C) Lok Nayak

Financial year of Uttarakhand Government

begins from whichmonth :
(A) March (B) February
(C) April (D) January

International Nonviolence day is observed on :
(A) 2nd October (B) 1stOctober
(C) 10thOctober (D) 15th October

. Who invented Diesel Engine?

(A) Lumi brothers
(C) James Ritty

(B) RudolfDiesel
(D) None of these

Alfred B. Nobel was associated with
(A) IBM
(C) Calculator

-----

(B) Generator
(D) Dynamite

Jay Prakash Narayan is also known as:
(A) Dinbandhu (B) Rajaji

(D) None of thzsse

Who is the Defence Minister of India presently:
(A) Rajnath Singh

(B) Amit Shah

(C) Nirmala Sitaraman

WOV v erampye: in
59. The capital of Kerlais :
(A) Madurai
- (B) Thiruvananthapuram
(C) Banglore
(D) None of these
60. mes is caused by the deficiency of .........
(A) lodine (B) VitaminA
(C) VitaminC (D) VitaminD

The process of obtaining salt by the evaporation

,of sea wateris called .......

54.

S5.
56.
57.

S8.

59.

61. T®

(A) ey

SET-C
IgETs WER & fadia o fFw ww w

& B e-
(A) 7 9§ B) Wl H
(C) i | (D) Sl |

I afEE Raw 9 TE@ S -
(A) 2 SFRER B (B) | AR &I
(C) 10 3FFFX H1 (D) 15 IR HI

e 591 W @9 fRee #1-

(A) Tt = (B) TEITH vt
(C) v &t (D) 379 ¥ *1E &
TSRS . AEe F1 gEY ol-
(A) sTEETH (B) SR

(C) Hemaee (D) TIFTHRE

SITHR AEC FHOSE @ S
(B) =T St
D) ¥8 | FE &

T H YRGB W a2 S
(A) Tse fHe

B) g we

(C) Fden dramm

D) T8 ¥ % T

HTA F T B
(A) 75T

(B)

(€) TR

@) TH ¥ w1 78

(C) o= =%

¥
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62 Whlch £as is produce on burning of charcoal”
i A) CO (B) CO,
@5 oo,

63. The perimeter ofa rectangular swimming poo

1is 154 meter. Its length is 2 meter more than

~ twiceitsbreadth. Whatis the length of swimming
i __.mo}‘? :

(A) 25 meter

; (C) 44meter

(B) 52 meter
(D) None of lhESL

64. Fmdtheanglex mgwenﬁgune

[

(A) 120° (B) 130°
- '_(C) 140° (D) None of these

65, Whichofthe following is/are fossil fuels?
- {(A) Natural gas (B) Coal

(C} Petrolétm (D) All ofthe above
2. :'%sehofﬁiefoﬂowmgtsmtmmample of Rabi

Crops?

(A) Wheat

(C) Gram

e

67. Find of value ofx from giver, equatlon y

x+1 3
x 3 8
- Teyamprein
@) Y% B) 2

(©) y (D) None of t}me
68, If15% of Ais equal 1620% of B. 1139..] 25%of
A is equal to what;

"r:m‘B? “T N
(A) 30% (B)

—»[' o

62.

. TUTE W f??fai ’Noaz ofthese

10

amﬁa%ﬁﬂﬁ%mﬁmﬁa%ﬁn

. TF AR T ge

64.

65.

66.

67.

68.

SET-C

T B 82
W Co. ®) CO,
() HS D) O

I W qRET |54
et &1 v T, ge del ® g §
2 HIX aftrs @) wifin qw w5 aEE

%)
(A) 25 #Hiex (B) 52 Hiex
(C) 44 Hi=x (D) 3 & 5 T8

4

A o3 & F x° #5999 e

e
@) 120° B) 130°

-(C)140° D) 374 ° %1 &
ﬁﬂﬁfﬁm H W %A ¥ famy S
(A) TBfas g (B) ¥ (rFem)
(C) e (D) 3T g

frefafed § 9 =0 @ w wi wmm
I TE 72

(A) T B) HHT
(©) = (D) T3t
ﬁqn&mﬁmw@xmmmaﬁﬁm
x+[_3
T 2x+3 8
@ Y% ' ®) 2
© % ) T

A H 15%, B S 20% & s £ 3 A
mzs%.B%i’mﬁnﬁxﬁmﬁwﬁm

A)30% - B) BL%
(C) 35% uf(D)sﬁ%mw
 [AMLXI]
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69. Chipko Movement is connected with :
(A) AirProtection
(B) Water Preservation
(C) Forest Protection
(D) None of these

70. Which ofthe following God's temple is snuateds

at Tungnath?
(A) Shiva (B) Hanuman
(€) Vishnu (D) Indra

71. Onwhichriver is the Ichari Dam built?
(A) Gola (B) Tons
(C) Goni (D) None of these

TE Mmri Dam is situated in ;
(A) Pauri Garhwal  (B) Dehradun

 (C) Chamoli (D) Una}pﬂu
73. Wh?mshould come in the place of questlon :

A mark (7)?

s

g4+ 28512 =7

V e Tl

S 1 1

P s B

rm) 912 (B) 12
f(;) 7%— (D) None of these

74l T’bﬂgvcmge age of 30 girls is 13 years. The
ﬂ‘vmgeage of first 18 girls is 15 years. Find out ™
 the average age of remaining 12 girls.

% (A) 12 years (B) 10years
ST years (D) None ofthese

When metal ball losses heat and cools,the s

G_f?xqmpwn:;ﬁﬂ_

‘1‘1

SET-C
69, fouqep) SRS W TERY AT
(A) B o
(13) ST&1 HIWOI
(C) g9 T
(D) g @ H e

70, ?mmmﬁﬁg’rmzzﬁfm&mmﬁm
(:\)ﬁ'l'd!ﬂ
(C) T =

71, warl afy fEe T w A -
(A) i (B) 24 .
(D) ¥ A w5 T

(B) ¥R =
(D) ¥ =

72. Wl 4y feerm 2-
(A) Wt A H - (B) qevgd o
(C) =medt o (D) Faramh o

73. WHEES A (2) ® TE 9 = s ?

33+22+Il=?
3 4 2

|

(A) 92 ®) 83

© T+ ©) T & FE

74. 30 wEfEA W frwm g 13 A B frad
-mfﬁﬂhﬁraﬁmmlsaﬁ%?ﬁ
A9 12 wefEal @t sia oy we

(Ay 12 B) 10 a8

(C) 11 =d (D) T & = o
73. W%*’ﬁémmmwymm

T W e e o .

(A) Bf Bt &

(B) wdt wrfy 71

(C) sfaffe wt &

D) 3fg i Fh TwE
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i 76 Potato is a modified form of .......
©0 (A) leaf
- (B) root
- (C) stem
(D) fruit

77. "DoorDie" is the famous slogan given by :
“(A) Vallabhbhai Patel
. {(B) Mahatma Gandhi
~ (©) RajeevGandhi
(D) Jawahar Lal Nehru

78. Whostartedthe first English newspaper in India?
(A) Bal Gangadhar Tilak
(B) Raja Ram Mohan Roy
(C) J. A. Hickey
(D) None of these

79. Inwhich year salt Satyagxaha took place‘7
(A) 1930

Qo S¥Ewprey
‘ (D) None of these

~ 80. Find the Factorisation of x? +8x + 16.
(A) k+4)(x-4) :

B G-y
(©) (e + 4y i
(D) Noneofthese
81. Find the square root of 4489, -
(A) 67 (B) 63
(C) 57 _ D) Nonc of these

82. Findthe cubicroot of 3‘930,4.7
A
B)34

76,

77.

78.

79.

80.

. 81.

82.

W

sy o Teen S FEaR e o & 9
(A) F@ TR faere

(B) TS TH AiET T

(C) = T, fe=t

(D) T8 9 HE Tel

THE TAWE FHd g
(A) 1930 H

. (B) 1920 H

(C) 1910 H
(D) 378 | =18 Jel

X2+ 8x + 16 1 OHETE TW HifTR-
(A) (x +4) (x - 4)

(B) (x—4)

(C) (x+ 4y

D) T8 ¥ = T

4489 H1 =S W Fifew
(A) 67 (B) 63

© 57 (D) ¥ & =

39304 F ST T Hiforg-
(A) 38

(B) 34
©yes.
©) ¥ A 3 7
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SET-C

5 o ' feta
8. 8Pipc-surereqmredlomlatank m3h0ur_3ﬂ 83. U oW &l 3 o ngf;?gliéﬂjﬁﬂ%g%ﬂ :,
| minutes. How long will it take if only 6 pipes 0 g B STEHh

e i e s abed? qq‘aamwmﬁfﬁr‘»ﬂﬁ?ﬁ%ﬁ
(A) 2 hour 37 minutes * RRERU LD
(B) 4 hour 10 minutes o T (A)2 w2 37 fre
(C) 4 hour40 minutes - (B) 4 ‘ﬁ 10 fire
(D) None of these ’% (4 qé;%
| [P i
exam pren (D) K
84. What will be a single equivalent discount for 84, UF wE & HRHT gE W HE T 20%
successive discount 20%and 5% on the marked aul §% & fau gumw UEA g2 e
price of an article? B
(A) 25% - (B) 24% (A) 25% (B) 24%
(©) 20% (D) None of these (C) 20% D) &9 | i
85. Upthrustand weightactin....... 85, UHE AU GH ....... H wrf ww #
(A) upward (B) downward (A) ¥ R Ren (B) NS # fawn
(C) samedircction (D) opposite direction LORGERE (D) fawdim faen
86. Whatis the perceritage otmtm%n in air? »@‘-a | 86. g ‘q "nviim fcﬁﬁl wfavr v 272
(A) 25% (B) 22% L ™ (A)25% (B) 22%
w(C) 78% (D) 90% (C) 78% (D) 90%

Elect onics Lid. is situated in - 87. WA seEfE fo, frem
e .. B Kot_dwar (A) Srerer (B) ®regr H

() i ¥ D) Bfgr §

88. ICUES ®wa T
(A) 09 TFF=T 2000
(B) 09 F8%1 1999

o (C) 09w TR 2001

88.

: \.I.v
TH3 '-[va

(A) 09 NovemberZOOO i T
(B) 09 November 1999
(C) 09 November 2001

(D) 09 November 2002 : T W - (D) 09 FEET 2002
£ : K-
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:ff:_f - ‘Direction for Question No. 91 to 100.
2 S“éiéétiyour choice out of the four alternatives (,,
‘complete the sentence.
91. Itishigh time you to behave properly -
(A) learned
(B) willleam
(C) should learn

92, Boughtapairof
~ (A) newnice red rain
(B) nice newred rain

boots.

(C) red nice new rain
(D) red new nice rain

_eyampre
93. Hoe:Gardener::_ surgeon.
(A) Easel
(B) Scalpel
~ (C) Baton

(D) Ladle

94, Thereis knocking on the door.
(A) something :

(B) anyone ::ﬂ{_“‘r
(C) someone T
(D) everyone

95. Thetown_ hasapproved plansto create
a new park.
(A) team
(B) council
(C) ammy
(D) faculty

SET.c
96. I himtobealiar.
(A) doubt
(B) suspect
(C) believe
(D) disbelieve

97. Practice of having more than one wife at a tim
iRegiied 5.
(A) Polyandry
(B) Polygamy
(C) Monogamy
(D) Symphony

98. Imust
(A) forget
(B) had forgot
(C) have forgotten
e (D) had forgotten

to switch off the light.

99. Inthe past grandparents, uncles, their wives and
the children all used to live under one roof, bu

now the system of nuclear families S8 the
order of the day.
(A) isbecoming
(B) has become
(C) will become
. (D) will be becoming

100. You cannot pass you work hard.
(A)if
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